
Protected B when completed

Saskatchewan Credits SK479
T1 General – 2015

Complete this form and attach a copy to your return. For more information, see the related line in the forms book. 

Active families benefit
If your adjusted family income is not more than $60,000, you can claim the active families benefit. Otherwise, enter "0" on line 7.

Adjusted family income for the calculation of the
Saskatchewan active families benefit

Column 1
You

Column 2 
Your spouse or

common-law
partner

1Enter the net income amount from line 236 of the return. 1

2

Total of the universal child care benefit (UCCB) repayment (line 213 of the return) and 
the registered disability savings plan (RDSP) income repayment (included on line 232) + 2+

3Add lines 1 and 2. = 3=

4
Total of the UCCB income (line 117 of the return) and the RDSP income 
(line 125 of the return) – 4–

5Line 3 minus line 4 (if negative, enter "0") = 5=

6Adjusted family income 
Add the amounts on line 5 in column 1 and column 2 (if applicable) and continue 
on line 7.

5980 7Active families benefit 

If the amount on line 6 is more than $60,000, enter "0". Otherwise, enter the total 
amount from the worksheet below. 
Enter this amount on line 479 of your return. •

Worksheet
Line 7 – Active families benefit (If you need more space, attach a separate sheet of paper.)

Child's date of birthName of eligible child

Year Month Day

Amount paid for 
eligible activities

Enter the amount 
paid or $150, 

whichever is less.

+
+
+

Total
Add the amount for each eligible child. 
Enter this amount on line 7. =

See the privacy notice on your return.
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